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PART - III
Ceudlufweo/ CHEMISTRY

(50 wHMID Ml eufl / Tamil & English Version )

&re 3jema] : 3.00 wewtl CHy ] [ Qurgs wHuCueTser : 70
Time Allowed : 3.00'Hours ] [Maximum Marks : 70

SiPleyenrasst : (1) Aevansg ellamssErb Flurst ufeurd o_earargr eramugenar sfUMTsgis
Qamarereyld. MFHULIFGSD GampuimLiber, Henmsd saaTenilliumeTilLb
2 Lamguings Cgflelsse.
(2 Beow ooy ssmuy owvloeer wLECDL  aWgMSDHELW
2 &ECETEHughH@L Lwuau(Bss CauamrBb. ULRSE umrausnE
x Quendled LwaTLBHSSELD.
Instru ;Z) (1)  Check the question paper for fairness of printing. If there is any lack of fairness,
inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw diagrams.

@MlLy : Ceamauwner @L S LLLD auamrbgl, SLTUTHEMET 6T(LPSaLb.

Note : Draw diagrams and write equations wherever necessary.
u@3 - 1/ PART - 1
@OuY : () Swess lamssErs@h el wealldsen. 15x1=15

(i) Qer@ssuul(Berar Brem@ wrHm eflengofle Waab eHyemLwW
dMewLeows Carblds®ss GHUELGLa elmLamayn GCsisg
GT(LPSEYLD.
Note : (i) Answer all the questions,

(i) Choose the most appropriate answer from the given four alternatives and write
the option code and corresponding answer,
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SaDI : GorGenr Haflefils spsab e CurGeamdleflals ULs UMSEES
) g.g,rrf;remfo.
ST CurGarmdeflafls Ls seowUAHE a # b # c CEIb a=+vy=90°
B = 90°.

(=) Fapmy &M Yy ered SnyevwId Soum.

(<) SadmI LOHWD SrrewTd Qrar@n M, CLEID STrEwEILTTE FadDBIDHETE
sflwrer eSleT&sHwrELL.

(8) s=pDm LHMD SMTETETDd QramL Seum.

(7F) Sapml WOHMID SMrewwTd Qrar@b &M L @TTL STTERTONIG Fn DO DTS
gflwrer aSlen&sLaw®.

Assertion : Monoclinic sulphur is an example of monoclinic crystal system.

Reason : For a monoclinic system, a # b # c and a=vy=90°, B # 90°.

(a) Assertion is true but Reason is false.

(b) Both Assertion and Reason are true and Reason is the correct explanation of Assertion.

Both Assertion and Reason are false.

(d) .?l Assertion and Reason are true, but Reason is not the correct explanation of
pertion.

K;[Al(C,0,),] eramm iememays Camngdler IUPAC Guwi :
(=) QuriLrflwd Cflev &Gl GLr ogblGearl (III)
(<) QuriLrflwb Loy 2&5Cal CLr aiuflafwb (II1)
(@) QuriLrflwd ey 268G GLr @ublGer (III)
(FF) QumiLmflud ey 855Gl G ojeslGer (II)
IUPAC name of the complex K3[Al(C,0,),] is :

(a) Potassium trisoxalato aluminate (III)

(b) Potassium trioxalato aluminium (III)

(c) Potassium trioxalato aluminate (III)

(d) Potassium trioxalato aluminate (II)
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Qetreumeuameupmiet cuelenipwiment <jbled 6rg) ?

(<) HBr (e}) HI (@) HCl (/) HF
Which of the following is the strongest acid among all ?

(a) HBr ®) HI (c) HCl (d) HF

QemeumeuateudmeT sp? QerdssEolL Qeongg) 6T ?

(=) yoaifer (<=1,) Hlyme e
(@) o U&ﬂéagl;lq- (/) AgmaSen

Which of the following is not sp? hybridised ?

(a) Fullerene (b) Graphite

() Dryice (d) Graphene
L8

RNA ;Z)asrremﬁlu(mb IfLblig 601 STFRIGET

(=1) s CLrélen wHMLD S wiLdle

(<=1) ensl_GLmélem oHmID <ilq enETe

(@) s CLrflen wHmID wyrréled

(FF) ewg CLrflem HMID @eUTenere

The pyrimidine bases present in RNA are :

(a) Cytosine and Thiamine

(b) Cytosine and Adenine

(c) Cytosine and Uracil

(d) Cytosine and Guanine

7422
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6. pevGflen eremug) :
(=) CearmGrr Quensmuds 2bled
(<) S8 sraldlells ofeid
(Q) bBsrafadls bl
(rF) Quensmuiled smelfalls ofleld
Aspirin is :
(@) chlorobenzoic acid
(b) acetyl salicylic acid:
(c) anthranilic acid

(d) benzoyl salicylic acid

7. Sfle eassHéd QurlLrdlwud QuivrisCer QPG REHFTONE SWFHS
<25 AEHRCaHnd SwLwE QeliHng).

(1) SASACLL (=) %55CeL

(@) <8198 ied (F) smrLeT el B &amaev(®
%acid medium, potassium permanganate oxidizes oxalic acid to :

(¢,7 acetate - (b) oxalate

(c) acetic acid (d) carbon dioxide

8. aflddamang A ws sile By er eleamiur_ @ Qar@&ED efenar@uimmer
() p-OGarr 8L CLmICermen
(=) o-SIOCam HAL_CLmSCemmen
(@) A8 Lafleva(®

(FF) m-Carm L CLmiGenmen

When aniline reacts with acetic anhydride, the pfoduct formed is :
(a) p-aminoacetophenone

(b) o-aminoacetophenone

(c) acetanilide

(d) m-aminoacetophenone

P >
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10.

11.
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Spés@mcuppier eyl Srmh LGl Lwirg ?

(1) Gemquib GGetTerr( (<2p) Gamgwib urGul

(@) <iwGwreflwnd uriGul () bGuraflwn aplCri
Among the following which will not be hydrolysed ?

(a) Sodium Chloride (b) Sodium Formate

(C) Ammonium Formate (d) Ammonium Nitrate

Qemeumid eTsQEISATND Tane (pgeenld WTGQRISETTGLD ?

() OeosoregrGs Wb (i) Haso-sriblub Wersa

(i) Qe GsALLS sebd (iv) QuwrEfl Wergeb
(1) (i) LHDID (V) (=) () LOYID (iv)

(@) (i) wHmID (iii) (/) (i) Hmb (iii)
Among the following cells primary cells are :

() Leclanche cell (i) Nickel-Cadmium cell
(g\)‘ Lead Storage Battery (iv) Mercury cell

(a, ‘/ and (iv) (b) (i) and (iv)

(© Y tha (i (@ (@) and i)

AL GLrafle(mbg swCarrananl fer 2 (Heur@ eflener L96meu (h6u 66U M mI6T
TEHDEG FTRMTE 2 ETeng| ?

(21) erevsLymen seum Gamliy eflener

(=) s LHDLH eSleer

(@) smaeur Geriy ellena

() ereéLgmen seum LB elener

The formation of cyanohydrin from acetone is an example of :
(a) electrophilic addition

(b) nucleophilic substitution

(c) nucleophilic addition,

(d) electrophilic substitution
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12.

13.

14.

15.

6

e cNeeufen elemaGeus wrhalufer i 5.8x10-2 s~ 1 erafldd eueiieanamuden

Neneeuens :

(<) QUemLmbd cuems (<) PHD euens

(®) epepmid cuans () ysBlwu euems

The rate constant of a reaction is 5.8 X102 s~1. The order of the reaction is :
(@) Second order (b) First order

(€) Third order (d) Zero order

WETeMHUEGSSSD perpulled sTUILIENTS SNUMWINEEGS D GeneumauaaupmIeT T
Cpiflereumurs QeweL@Hng ?

(<=1) srituer sam®h (=) MW sTILT
(8) Yermligend Wemeums (rF) gnieswwHm STLILF
In the electrolytic refining of copper, which one of the following is used as anode ?

a Carbon rod (b) Pure copper

\ .Z}atmum electrode (d) Impure copper

Guy aleaGeaswrphluiear Qeuddnamear oHsfsEn Carwlb

(=1) CH;COOH (<=4) H,S (8) ALO, (FF) AsyO4
Activity of iron catalyst is increased by the ____ compound.
(a) CH;COOH (b) H,S (c) AlLO; (d) As,O4

pfloarwy gosaprasailea <&ARCappsans <o manQ 2 Beure b
HemeulGatu Hlempea) Gawlwut tweTLBL <&AnCamHlurarg :

(1) Na,Cr,0, (<) KMnO, (8) K,Cr,0, (/) PCC
The oxidising agent used to stop the oxidation of primary alcohol at the aldehyde stage is :
(@) NayCr,O, (b) KMnO, (c) K.Cr,0, (d): PCC
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u@d - 11/ PART - 11
GOy : gGsed M &S (EHEHE elenLwefléseyb. aNewT eTamT 24 -&(F) SHLL_MULONS
ellenL_wefl&&ayLb. 6x2=12

Note : Answer any six questions. Question No. 24 is compulsory.

16. sTHMrend @il UMISHOD CTEIMTE GTerTe ?
What is Calcination ?

17.  Gurfls sllegeng ereueurm Guryrer enblany(® <2485 LOTHDIEUTL ?

How will you convert boric acid to boron nitride ?

18. s&p5s Slabd @ BiBsen smafl. @m a@sssaTlHrear Hneys.
Sulphuric acid is a dehydrating agent. Justify with an example.

19. Qurg Swefl ellenetenel @ THSHESTLHL6T NeTdEs.

Explain common ion effect with an example.

%

20.- Fe' ;z)mvﬂasm gL Hleoeomwsaild YCrreweaL LGrrfams o&fgCammmbd

oL wE Qeluywor ?

Qar@ssuulLg) : E;e3+|Fez+= 0.771V
EBr2|Br‘ =109V

Can Fe3* oxidise bromide to bromine under Standard Conditions ?

Given: g 0.771V

]
Fe3+IF92+ =

o

Bry[Br™ 1.09V

E

21. Ga&mevools ellenaenil 6T(LP&is.
Write Kolbe’s reaction.

A [ HmLiys / Turn over
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22. Spssamcupdlen SenLImU 6T (LHEIS.
a = D-@EpsGaranurGarmen wHmib
B —D-®en&GarenuiyGanmen
Write the structure of the following :

a— D-glucopyranose and

B —D-glucopyranose

23. et 2 uifs6r eremmmed erevrer ?

What are antibiotics ?

24. olleneeuens eraImTEd Grevia ?

What is an order of a reaction ?

@S - 11/ PART - III

@;%q : gCaaIb omI amEsensE el walEsayb. edem erer 33 -8& SL_L_MuLons
;/ L wefll&sa|ib. pra=is

Note : Answer any six questions. Question No. 33 is compulsory.

25.  afellugdlen LwasMETS HHs.

Give the uses of helium.

26. Fe’* ooz Fet arg wifls Hevelius st 2L ? erem ?
Which is more stable Fe3* or Fe2+ ? Why ?

27. s@uilafluwrerg sersgy QpwrdL Qurilps w9 LG ESLIEDS. oig6m
2 Gaors <4rd 125 pm. BGs sal lgen efefibyy BPorsenss samsd@Hs.

Aluminium crystallizes in a cubic close packed structure. Its metallic radj

ad1ius is 125 pm,
Calculate the edge length of unit cell. ‘
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28.

29.

30.

31.

32.

33.

9
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<irafefluiey FoeTur_yemar erpd iHd @LbQUOpIETaTEUHD 69eTé .

Write Arrhenius equation and explain the terms involved.

QUOUPLILTIY seuige whmb Cadiupliuriy safsd @duapiar B

Qestiuflened Hmib H(PSs5H e Nenarellenen eNeréEs.

Explain the effect of temperature and pressure on physisorption and chemisorption.

. Cprleupsd eSienarenw ellend g s.

Explain Knoevenagal reaction.

gflenemr oiSer, smiruer e seU@GLar Lflyn elearew 6T(psis.

Write the reaction of primary amine with Carbon disulphide (CS,).

Qu&,/ ﬁ]smsmuq LB ﬁ@@gﬂﬁlq"mmua.

v
Write a m&t note on peptide bond.

[Co(CN), CL]Cl eretim 2jenemrelled Lﬂ]shaj@msmmg')mmé;‘aseﬁum@as.

(i) IUPAC Quuwrr

(i) evww 2 Gors 3jwe]

(i) <SiemenTE| 6TENT

In the complex, [Co(CN), CL]Cl, identify the following.

) TUPAC name

(i) Central metal ion

- (i) Co-ordination number

[ Hiwliys / Turn over
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U@ - IV/PART - IV

GO : Smensg s EpsEn elepLwafsseb. 5x5=25

Note : Answer all the questions.

34. (=) (i) saflow, srg PHuaupdpdeL Cuwrer Caupur@dsdr wWrenal ?
i) smium 9NECQsHSSL QFwapenpuler HeallGamellen Lk, eremer ?
S|6V608)
(=) (@) Curfls SlwsHar LwamsmaT 6T(LYSIs.
(i) &N&CH_(Haer erammmed ereme ?
(@ (1) What are the differences between minerals and ores ?
(i) What is the role of silica in the extraction of copper ?
OR
(b) (i) Give the uses of Boric acid.
b‘ (i) What are silicates ?
g

4,

35. () onbsami( GMIESD T creem ? Sigem edanema seT Wrene ?
S|6V60 )
(<) () QrieL 2 LLse wHmId Sieame s Carwmased LHH AniEHiiy T(LPFIS.
(i) @SS gepuler LwGTUELD @Ff Semarmeys Caob LHMIL 2 LW
éAlusgiaubd aumips Siememmeyd oo <, &wepmisE 2 sryamid &(HS.

(a) What is Lanthanoid Contraction and what are the consequences of Lanthanoid
Contraction ?

OR

\

(b) (i) Write a short notes on double salts and co-ordination compounds.

(ii) Give an example of Coordination Compound used in medicine and a biologically
important Coordination Compound.
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36.

37.

38.

11

(1) ereflu saéag)r Lks wmoriGer Qurdleys Hmeven samsd(Hs.

(<) @)

()
(b)

LM
A = eflenanQuimper GTeD LUl euens edllepanssnen QgrensiLBhEsL-
Ul Geus e lu9 em e aumeN&E&aLb.
(i)  SrRisD e - QUENTILIMI&&aLD.
Calculate the percentage efficiency of packing in case of simple cubic crystal.

OR

(i) Derive the integrated rate law for a Zero order reaction, A — product.
(ii) Define buffer Index.

(=) () sroeurafls Wersam GOUG wepeows upd eferdEs.

(i) GCameo® ererr - QU T WM &S LD.

D E0E0F)

(=) @rsrev Cergenar Lp GNLQUEIS.

(a)

(b)

()  Explain about Galvanic cell notation.
(i) Define gold number.

OR
Write notes on Lucas Test.

(=) @) ANsami@ Neoassrral@ambs <A gs Blob ereueumm

(=)

(a)

(b)

swrils&sLuBdpg ?

(i) &G LOUIGEET eTemmed erener ? T(HSHESTLH SHE.

3606V

erap eumur® Gsrer &g Garow (A) Syerg Zn-Hg/ i HCl

2 L aflenefipg) Gairowb (B) -ewd smdmg). Gaioibd (B) <yang HNO, 2 Len
eflenenfipg Gaiow (C) (psarew elleer@umgmear) whmib Gaiwibd (D) -euwis
A Guogib Geiob (C) erg <Lt HCl 2 Lar elevaryfipg Caiob (E)
(genowied eflerllai) HMID maprréflaollenats sBADS. A, B, C, D wpmib E
sweupenps saTLPbg SGHS eNmasmars &ms.
(i) How acetic acid is prepared from Grignard reagent ?
(i) What are bio-degradable polymers ? Give an example.

OR
An organic Compound (A) of molecular formula C,H,O reacts with Zn-Hg/Conc. HCl
to give Compound (B) which reacts with HNO, forming Compound (C) (as major product)

and Compound (D). Compound (C) reacts with conc. HCI to give Compound (E)
(Table vinegar) and hydroxylamine. Identify A, B, C, D and E with suitable reactions.

-00o0-
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